
12 

 

  

 

Eurogarden 

2 

4-6 

7 

7 

10-11 

8-9 

12 

TBS6000RD/TBS6000RDOS 



2 

 

1 

2 

 

11 

 



10 

 

3 

 

Ref. Qty. Description 
 

3 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 

1 
2 
3 
2 
1 
8 
1 
2 
1 
2 
2 
1 

1/4” x 2 1/4” Carriage Bolt 
1/4” x 2 1/4” Hex Head Bolt 
1/4” x 1 1/2” Hex Head Bolt 
1/4” x 1-3/4” Hex Head Bolt 
1/4” Wing Nut 
1/4” Nylock Nut 
1/2” x 1 3/4” Clevis Pin 
1” Tube Plug 
#14 Hitch Pin Clip 
Support Brackets 
Clevis Plate 
Control Cable Holder 

Having Problems? 
 
Installation Questions?  
 
Missing Parts? 
 
Replacement Parts? 
 
 
 Don’t go back to the store! 
 Let us help you!  
 
Please call our helpful Customer Service Department 
Toll-Free at (800) 225-5891 We will be happy to 
assist you. 

STOP 

3  11 

  9 

  8 

  5   4 

  7 

  6 

  12 

13 

 10 

  14 



4 

 

9 

 

 



8 

 

 

28 
29 

26 

14 

1 

3 

4 

6 

5 

13 

12 

11 

9 

10 

8 

7 

20 

18 

19 

23 

24 

36 

32 

14 

17 

22 

16 

20 

34 
25 

20 

33 

35 

34 

13 

5 

 

 



6 

 

7 

 


